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Az 2snn= SN REHRAD
3 AR IHd =8 & JIRIML
Hel: MS2% 2==d (Ete M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
7l 10,000
= 10,000
308 AFAIEHMISOIE 20,000 20,000 0
7l 10,000
= 10,000
01 XN B SELS 20,000 20,000 0
Ot =uUHM=M FAE2 O 20,000
Jl 10,000
& 10,000
st=els0=H Zot 24,000 40,000 16,000
308 XX HMSOIA 24,000 40,000 16,000
01 AXISHHBAEE 24,000 40,000 16,000
Ost=2E0 =M KA 24,000
NZXIOtS &L J1g2 A (21) 1,200,000 0 1,200,000
= 800,000
= 400,000
403 AXIEHMSA=0lA 1,200,000 0 1,200,000
= 800,000
= 400,000
01 XIS EE 2= 1,200,000 0 1,200,000
OAMAXIDtE =wit Jlg2 A8 XI& 1,200,000
= 800,000
[ 400,000
EN2SAHE Xscd 20 XZAE(21) 414,700 0 414,700
= 319,000
= 95,700
308 HAIEHMISOIE 414,700 0 414,700
= 319,000
= 95,700
01 MAEHBLEEZ 414,700 0 414,700
OZUEANH XF=dZZ 18 XIRA 414,700
= 319,000
= 95,700
dE2e &8 & FENE 580,000 580,000 0
dSEs 54 & NE 580,000 580,000 0
KNEES2SHHAK R (DM EALS) 580,000 580,000 0
308 XXM SOIA 580,000 580,000 0
01 XN B SExS 580,000 580,000 0
OZEHM ASHZ 2=0| W& (HE) 145,000
OY st =[N L& (HE) 145,000
OYELE2oN =HHS(HE) 145,000
OAMAIthERI= oty ST (XS 145,000

- 416 -




Az 2snn= SN REHRAD
Y ZIRAS MAN B&E - M5
cI9l: 2atRMel AYI(E BE - S (crel: g)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
FatFAe MAR BE - 85 36,372,975 34,136,052 2,236,923
= 20,811,313
| 2,525,781
& 13,035,881
ZoFAL] RAFIIB BE - 25 4,058,976 3,945,363 113,613
= 275,000
J| 1,162,000
& 2,621,976
AXE M A=A 184,000 270,000 A86,000
308 AtXIEMSOIN 184,000 270,000 A86,000
01 AXESHNBLEES 184,000 270,000 286,000
OHEE 23 ASZA 184,000
PRI B - 54 588,700 788,250 A199,550
202 Odt| 2,550 2,550 0
01 =WHO4bI 2,550 2,550 0
LEEIN 25 - 24 g2 =& 2,550
308 AXIEMSO0IA 586,150 645,700 59,550
01 XIXIEHBAEES 586,150 645,700 59,550
T FEEI}IM Hs3 502,100
O REZSM SHEAL 67,250
o=l =M 23 &5 I# 16,800
Zatede 29 50,500 50,500
201 etz 3A| 45,000 45,000
01 AtR2telt| 45,000 45,000
o=stiIds 24 45,000
202 04d| 5,500 5,500
01 =WO4HI 5,500 5,500
OI3tmato 2e| & JIBtE HRFA 5,500
M el20M g2t 14,000 14,000 0
201 Ler23Ad| 14,000 14,000
01 ArR2eltl 14,000 14,000
OZ3M ==cIB0A &2t 14,000
I SSAE(=21) 2,208,000 2,020,000 188,000
J| 1,104,000
& 1,104,000
307 QI2Hol 2,208,000 2,020,000 188,000
| 1,104,000
& 1,104,000
02 QIRHEAAIHE = 2,208,000 2,020,000 188,000
o2 ==sAd 2,208,000
| 1,104,000
& 1,104,000
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Az 232D SN 2K
M 2R AR 2E - S
cI9l: 2atRMel AYI(E BE - S (er9): =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
Ar2et 115 & Ol &= 20,000 30,000 10,000
308 XXM SOIA 20,000 30,000 10,000
01 XN B EEES 20,000 30,000 210,000
OgA2et 15 € JIXl &= 20,000
HIAI=& SH2el & 82 200,000 200,000 0
307 @120l & 200,000 200,000
02 2IZHBAAHE X 200,000 200,000
OWZ MIAIFE ST =& 200,000
2ot fladst 209,378 278,338 68,960
307 @120l & 209,378 278,338 68,960
02 QB AAHE X 209,378 278,338 68,960
OLAZ3atF4 0201 A=2Y 209,378
=AAT2W 25 E SrES 20,000 20,000 0
308 XXM SOIA 20,000 20,000
01 MAESHBLEEZ 20,000 20,000
O=2ALTH23 25 & & &5 20,000
2 N2 FIIEA 173,398 144,275 29,123
307 2I2t01 & 173,398 144,275 29,123
02 2B AAHE R 173,398 144,275 29,123
OZdx NI HIIZA 173,398
Olf RERA g2 - 4(20) 275,000 0 275,000
= 275,000
308 AXIHHSOIA 275,000 0 275,000
= 275,000
01 XN B SEES 275,000 0 275,000
Ol PR 2= - |4 275,000
= 275,000
SESAMY 02l d=ZAH=1) 116,000 0 116,000
J 58,000
= 58,000
207 AR 116,000 0 116,000
Il 58,000
S 58,000
01 A2ESH| 116,000 0 116,000
O=SSAY B0l==cl d=ZA 116,000
Jl 58,000
[ 58,000
SHiES H =HEY 25,314,719 24,740,608 574,111
= 17,150,030
= 8,164,689
E3H 2=+=3H| 3,915,125 2,702,405 1,212,720
202 04| 8,925 8,925 0
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dHEC
Ol &42H
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3,906,200
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Ofl &8

18,000
6,400
4,500

40,000

2,900
120,000
60,000
100,000
28,000
50,000
28,000
32,000

8,000
10,000
60,000
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213,600
20,000
44,000
12,000
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160,000
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75,000

9,000
280,000
360,000
380,000
150,000

80,000
35,000
40,000
18,000

HyS

- SR1(3) - HIRAHY

SRR

01 ZLHA LI

K-

RO

HE 2K

0

g

X
(=}

At

=01

tHIS
EXIAH

403 X+XI
01 XX

fd]
i
ok
=
c
wd
xr
Kl0
<0

i’
K

Xel

<
il

ol
X0
oJ

o

RO

ok

R0

THl =8 FHl
qcl

- e

OEH=R EH

K
byl
ol
E
0
i

8,000

25,000

-419 -

£ E&Xel -

pas|
S

L O
oI

-

JE
kel LEIL

PSS
=

AbE
&
&l




od
3
OF
uJ

{0

KJ
Ko
RO
Rl
A
= OF
= ok
M o1 <+
< I
EINV =3
o1 03 oY
0K 0K OH

W & oF
A RO )

8 8 8 ] ] 3
~ ~ 2, © © ©
- (a5) (48]
o 5 |8 |8 g g |8
E q q q
jum ]
(a0]
= BB g |8 |8
. B B B g 8 g
4_._._.__m.~.m S s S = = =
) (aV)
RIS
888888888 88888 8 88 8888|8838 83|88 8888888 3|8 8
S oo xmesos 88558 & o8 goggolSedINaod|fYo¥|lesg|lesgleg
Al < 0 < N~ - o Q o | © Q0 O @O QO QI O Q
RIS E B BESS= 8 B:% SEEVHIBYHEFAELEELEREEEEE
ar ® O BB WY DB DY S| ||
<J
S
now| oo | om | U
oir N
0 — < = X <
) W D <« DE om0 M
A. 2 RO = ol 3l RO 51 —
' B ) Jxr < BB Mg -
ol o 0 wS m AR KT i
* = ® 5 _ 95 WZIgwR o o i
= 5o O DM DRk oz o 0
: —~ 5 O < B A - T _
~ 0 2 I : Boag w2 oy <k < m RO 2|3 o
= W =R D= U5k TR 0+ 05 MMy 4 ¥ SH RO
T ool ok oo RO o 2 > ok T H b 9 UG o 9 <+
[2) = &) 0 ok R MRS H K0 I 0o %l ol H & = z o . z =
F oA E M o ROU Um WOBE W W R WR g IF D =) Ki 5 =) Kl 0
w_ oW HA®B R AR FRA o WA LA % ) H X I i M i
CMxmzpaspzMzr=cc oz oan wWxowy =< o = i W o
Pra [T T (R I R Y TS T R PO R - S s uo B 0 uo B o
go |00 <F O DD G H O 04 B0RW W Hg ol FS W gy s 5 N R <+ 5 ==
S lrmnom e ™ 0T DR R R R WD 0| = R A T = = W
= [0 M0 W0 W0 B0 B0 B0 HO M0 B0k M0 RO RO W W R0 ol~ o) ol M 4 60| = = M i = = R
F [c00000D0DO0ODCOCO ©OOO0OOO O ©0 ©00O0|g @ = © = o = ©
. ~ o 10 <
' rr R4
A

-420 -



Mo

174,150

A=
SRS HMAN 2= - 85
LML U SEFY| chel )
2 2A B BH(EH) - i HIDEZ
= 1,120,000
= 560,000
HE2 REXNG F2 1E3 791,129 170,000 621,129
= 701,000
S 90,129
308 AXIHHSOIA 791,129 170,000 621,129
= 701,000
& 0,129
01 MXHHBSExS 791,129 170,000 621,129
o=t REXS 791,129
= 701,000
= 90,129
SoR4 BEMY 22 S 4,009,233 2,820,629 1,188,604
= 2,874,600
Il 18,300
S 1,116,333
2R ZI Mak2e(20) 100,000 100,000 0
= 100,000
308 AXIHHSOIA 100,000 100,000 0
= 100,000
01 AXHH B EES 100,000 100,000 0
O="=3tM a2t 100,000
= 100,000
S 2E 2+AE K& 870,000 978,750 /108,750
= 600,000
= 270,000
308 AFXIEHMISOIE 870,000 978,750 108,750
= 600,000
S 270,000
01 MASHBLEEZ 870,000 978,750 108,750
OdUZ3 At 870,000
= 600,000
& 270,000
40 s+l g - M3 & 561,150 691,650 130,500
= 387,000
= 174,150
308 AHRIEHMISOIE 561,150 691,650 130,500
= 387,000
= 174,150
01 AXHH B EXS 561,150 691,650 130,500
ogl A& 2= # & 561,150
387,000




Az 232D SN 2K
M 2gigaol AHN BE - ds
ol 23RN BEAY w2 . 54 X (ol &)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
K=ot QIEAL X3 (212) 20,653 23,079 N2,426
p) 18,300
S 2,353
308 XXM SOIA 20,653 23,079 N2,426
Il 18,300
= 2,353
01 XN B EELS 20,653 23,079 N2,426
Ot F A QISBUAL X H 20,653
Il 18,300
[ 2,353
2HH OFe (&AT) AL (= 12) 710,500 729,350 18,850
= 490,000
= 220,500
308 XXM SOIE 710,500 729,350 18,850
= 490,000
S 220,500
01 MASHBLEEZ 710,500 729,350 /18,850
O3 OF (RAT) AL 710,500
= 490,000
& 220,500
TSAAIZSH S8 (=1) 210,250 140,650 69,600
= 145,000
= 65,250
308 AFXIEHHSOIE 210,250 140,650 69,600
= 145,000
= 65,250
01 XN B EEXS 210,250 140,650 69,600
OXSLAIZE T S ALY 210,250
= 145,000
S 65,250
08 - B2Y ZEAM(2D) 176,900 111,650 65,250
= 122,000
(e 54,900
308 AXIEHMSOIE 176,900 111,650 65,250
= 122,000
= 54,900
01 MXHHBSEx= 176,900 111,650 65,250
01 - SE 2EMNY 176,900
= 122,000
= 54,900
NS 88 T2 2H(=21) 208,780 0 208,780
= 160,600
& 48,180
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Az 232D SN 2K
Hu: 2aigao HHE 2E - da
el 23iRs BEAY 22 54 N8 (ol me)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
308 AFAIEHMISOIE 208,780 0 208,780
= 160,600
S 48,180
TAASHBSEEZ 208,780 0 208,780
ONARA 22 228 29 208,780
= 160,600
& 48,180
HEXNSE 282 SotRi EZSSAY 20,000 0 20,000
308 AFXIEHMSOIE 20,000 20,000
01 MAHHBSExS 20,000 20,000
OHZX S =2 2374 2EEEAY 20,000
NIAIS A DICIOOLE At (=1) 1,131,000 0 1,131,000
= 870,000
S 261,000
308 AR EMSO0IH 1,131,000 0 1,131,000
= 870,000
= 261,000
01 XM BaExS 1,131,000 0 1,131,000
OAIHI =L DICICIOLE ALY 1,131,000
= 870,000
[ 261,000
Setra ds & WS- 88 Ad 241,556 773,818 N532,262
= 106,933
Il 15,000
[ 119,623
= ns2 23t I (=12) 44,950 88,450 243,500
= 31,000
= 13,950
308 AFXIEHMSOIE 44,950 88,450 A\43,500
= 31,000
= 13,950
01 XM B EEXS 44,950 88,450 243,500
Of+u=s2 243t A& 44,950
= 31,000
S 13,950
NAISA EEXIR AIE(22) 52,000 0 52,000
= 40,000
[ 12,000
308 AHXIEHMISOIA 52,000 0 52,000
= 40,000
= 12,000
01 MXHHBSEx= 52,000 0 52,000
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Az 2snn= SN REHRAD
Hu: 2aioao HE 2E - da
el Estrd s H uUs - 82 A (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
OMAIF& EEXH A 52,000
= 40,000
S 12,000
23 etE FBl(=1) 15,3% 71,088 A\Bb,694
= 10,973
[ 4,421
403 MR EMSHE0lH 15,3% 71,088 A\B5,694
= 10,973
= 4,421
01 AXISHH A= E X 15,3% 71,088 A55,694
O=3tM erlier Hdl 15,3%
= 10,973
= 4,421
N 2atsat W= A (21) 19,500 26,000 26,500
Il 15,000
= 4,500
308 MR EHMSO0IH 19,500 26,000 26,500
Il 15,000
[ 4,500
01 HXHHBSEXS 19,500 26,000 6,500
OXNH2atm4t WS A 19,500
Il 15,000
= 4,500
SERN d=LS2 230 WSA HHXI(=1) 36,192 38,280 A2,088
= 24,960
S 11,232
308 NXIEMS0IH 36,192 38,280 /2,088
= 24,960
= 1,232
01 AN B EELS 36,192 38,280 A\2,088
LI d+nF2 SI0=WUSAH BY
N 36,192
= 24,960
= 11,232
CXE 2 L EHl AH 19,520 0 19,520
403 AXIEHHSAH=201H 19,520 19,520
01 RIS =E X 19,520 19,520
O=XE 25t Qe I At 19,520
LEHN drus2 XJ 45t 27,000 0 27,000
308 MR EHMS0IH 27,000 27,000
01 XN B EELS 27,000 27,000
ZSHM dx=ns2 XN 8435t 27,000
dEs A2 2d3t A 27,000 0 27,000
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Az 232D SN 2K
M 2aiga0l AHN BE - Fs
el 2eRi ds 2 us - 82 N (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
308 AtXIEtMSO0IN 27,000 0 27,000
01 AXEHBLEES 27,000 0 27,000
OLE=Y M2 435 NR 27,000
2o 25 L THHOrM A2t 245} 2,748,491 1,855,634 892,857
= 404,750
| 1,330,481
& 1,013,260
HEAE UTHAIAE R E2(=21) 314,625 239,200 75,425
= 209,750
& 104,875
308 AXIHMSOI & 314,625 239,200 75,425
= 209,750
= 104,875
01 XN BAEES 314,625 239,200 75,425
OTSALE UTHAIAE KX S+ 314,625
= 209,750
& 104,875
HSAHE YMAIAE 2E(=1) 250,500 187,500 63,000
= 167,000
& 83,500
403 XX HMS K201 A 250,500 187,500 63,000
= 167,000
& 83,500
01 XXX A= 2 = 250,500 187,500 63,000
ONMSAE ZAIAE 2= 250,500
= 167,000
o= 83,500
FotR4el A 2EEI 137,200 196,000 58,800
402 SIZERH=0H 137,200 196,000 58,800
01 QIR 2 AL A& (KX TH ) 137,200 196,000 58,800
OloTo|Et 23| M| AIAE 2= 137,200
2 NI Xl & E&(=1) 727,090 650,420 76,670
| 559,300
= 167,790
308 AHXIHMSOI & 727,090 650,420 76,670
| 559,300
= 167,790
01 AXESHBAEES 727,090 650,420 76,670
O3 XM BHIE HiXl & &S 727,090
| 559,300
& 167,790
3 HHEXAIE SX2el XJ(=1) 201,833 187,929 13,904
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Az 2snn= SN REHRAD
M ZotRie MAR 2E - ds
CI9l: 2E 25 U A o2k U5 EERED)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
J 178,839
= 22,994
308 AHAIEHMISOIE 201,833 187,929 13,904
Jl 178,839
S 22,994
01 AXHHBSELS 201,833 187,929 13,904
O23tM MHLXAIE KX2c| X2 201,833
Jl 178,839
& 22,994
ZoHH 2 loTAIAE 25 67,714 197,500 N129,786
Il 60,000
= 7,714
403 AXIEMSA201H 67,714 197,500 A129,786
Jl 60,000
= 7,714
01 AXISHHA=2EE 67,714 197,500 A129,786
O23tM &M loTAIAE 7= 67,714
Jl 60,000
S 7,714
23 HHERAIE 2=(21) 617,929 197,085 420,844
Il 532,342
& 85,587
403 MRS AHE01H 617,929 197,085 420,844
Il 532,342
= 85,587
01 XXX A= 2 617,929 197,085 420,844
O=23 MHEXAIE 2= 617,929
) 532,342
= 85,587
SAEM M s ZA - ASIALE 25 400,000 400,000
403 XXM SA=01A 400,000 400,000
01 A= 2L 400,000 400,000
O=ZZ2=t SHMASZAl - MSAILE 2= 400,000
23 UTHEEAAH 2Z22/(21) 31,600 0 31,600
= 28,000
= 3,600
308 AFXIEHMSOIE 31,600 0 31,600
= 28,000
= 3,600
01 XM B EEXS 31,600 0 31,600
O23tH dMEEAIAE 22l 31,600
= 28,000
S 3,600

-426 -




i[3]

D

Mt 80

od
3
OF
uJ

7080 &
) 0K RO
o R0 TH
0H B0 ~

-

HwE

s[EL
il &k o8

30,294
30,294
30,204
21,222
21,222

5,472
5,472

3,600
3,600

Ofl &8

30,294
30,294
30,294
21,222
21,222
21,222

5,472
5,472
5,472

3,600

3,600

3,600

R

- SR1(3) - HIRAHY

29438

A
=

\U
I

80
0k
T

-

01 AF22t2ltl

AtE 22| ]

30
0B

Ik

202 044l

01 S LI

Ok

=LH0iH

30
OH

KJ
K-
ok
ol

Kl
KK
aF
ol
30
0H

-

300,000 * 122
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